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Attempt all questions.

Make suitable assumptions wherever necessary.
Figures to the right indicate full marks.

Each question carry equal marks (14 marks)

Explain with examples (1) Scalar quantity and Vector quantity
(2) Centroid and Centre of Gravity

GelgRel WA wHaal. (1) AR Al wa WA Al

(R) 93ccl Jos ol UL Josk
Define force. State the characteristics of force with neat sketch.
wlo{l caval il sole(l QAU cllat@sdl ausdl Wl gl

Explain different types of beams with sketches.
QR ystrew ol sl WA wnas
Explain different types of Supports with sketches.
QA ysiell 25124 20g(d WA uxedl.

OR
Explain different types of loads with sketches.

QA ysiell euR 20l W wuendl.

Explain with the figure (1) low of polygon of forces (2) low of triangle of
forces

(1) 6l ol lgslaL oll [t () Aslal ol (Ao gl WA el

(1) Define Moment and Couple
(2) Define Composition of Force and Resolution of Force.

(1) ol ool val s o ofl cartuall UL

(?) ol6llo] AdLSel ol uloll of [Aeteet ofl cautuatl UL

OR
Explain with the figure (1) Lami’s theorem (2) Law of Parallelogram.

(1) AHLAR 6l AL oll [Plad () il ol uRa usld WA wmesdl

State the conditions of equilibrinm of Coplanar non concurrent forces.
wAH el Aol soletl AHAlcet ofl 2Rl seucl.

What is a “frame”? Give its classification.
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A Simply Supported Beam AB has span 10 m carries load of 50 KN 70 KN and
90 KN at a distance of 2 m, 5 m, and 8 m respectively from A. Calculate
Support reaction of A and B.

As ULEL Al 2sdett ol AB 10 Hl2R cioll 8. deotl uR uo (o),
90 (3o?). U €0 (Bo?y., otl 2R elol 6l UR efsA 2 1, w M, A

¢ Hl, sttalc® A2sLl A . 251 A u B o{l uldsaw slal

OR
Explain perfect frame and an imperfect frame with the help of sketches.

ool 3H ol WARS 31 wHlAell 1eeall unanl.

An electric light fixture weighing 150 N hangs from appoint C, by two strings
AC and BC. The string AC is inclined at 60 to the horizontal and BC at 45% to
the vertical. Using Lami’s theorem, Determine the forces in the both strings.

LU0 o?f2el clxotall SASRSs ollal A €1l AC Ual BC szt C g
d2sldd 8. AC alde uwdl wd s0° ol Wal wel BC Grelltlx AUl
A ¥ ol WAl 8. il oll YR gl ol eldldiott sl 2ledl,

Four forces equal to 40 N, 30 N, 20 N and 10 N act at a point making angles of
20°, 40°, 60® and 80" with the horizontal. Find the resultant of the forces.

¥0 o3, 30 o¥]., 20 o3, ol 10 o3 all Yl alloll AR wol AHE Aoy
A8 20°, ¥0°, S0° e ¢0° ol WRUAL slotld B dl L olellell uReual
GRS

Find the centroid of dam section with top width 3M ,bottom width 6M and
height 9M with one face vertical

A5 U oll AUSBEe] 23t Heal (g el 3 Roll Gueall uslous 3 .,

(Al udlous s Hlwal Gus ¢ Hl B,

OR
Two tensile forces100 N each acting at an angle 45° between them. Find
magnitude and direction of the resultant.

100 oj2ot oll Aell A gl ololl Asollat W ¥u° wel celd B.

wReuHl ola wal Aol (Bau sl

Three forces 10 KN, 20 KN and 30 KN are acting along three sides of an
Equilateral triangle in clockwise direction. Find the Magnitade and direction
of the forces.

10 (3 3., 20 [3 o3, ol 30 (5 o2f.oll 2Bl ololl UafsN AHGLy Blslal
ofl ol UR uslane siate(l Baumi cdl 8. a dolet uReuwl
Wile] Yeal ol (2ol ekl
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